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1. BEAFBENEE (i) <HERBE=E> (M)
ENERYD NERREED BEE BE |1B&4Af-Y0EE
632 {if 1E&48 743 4,363
EXiE 1 ELERMNE IR 1486 | 1,740 1,880 5,106
(%) 73E4L/H 3E| &R 2.229 5.849
B TT8 BT 18848 897 4517
EXiE 2 ELHERINE 2EIEE 1794 | 1,740 1,880 5414
(%) 738.41/8 3&48 2,691 6,311
819HA 5 121648 1,151 4771
ZNhiE 1 EAHERINE PETEEE] 1880 | 1,740 1,880 5,500
(3X%)73E4L/H RETE=EE] 2.821 6,441
893 B fif 121548 1,018 4,638
ZNiE 2 E4ERIMNE 21818 2036 | 1,740 1,880 5,656
(%) 73E4I/H 3&48 3,054 6,674
958 Bifiz TR 1,087 4,707
ZMNiE 3 EAHERINE PETEEE 2173 | 1,740 1,880 5,793
(X) 738 41/H 3E| &R 3.260 6,880
1017 Bifst IEEEE 1,149 4769
ZNiE 4 FAAERIME 2EI818 2298 | 1,740 1,880 5,918
(%) 7381/ H RETE=E ] 3,447 7.067
10748841 15518 1,209 4829
ZNiE& 5 EAHERINE PETEEE 2418 | 1,740 1,880 6,038
(%) 73E4L/H RETE=EE] 3,627 7.247
*1 B =10.54M (BEWR 51:520M B:680M 7&:680M)
2. BEHAFBEENEE(v) <ZRKRED> (M)
ENERYD NERREED BEE BE |1B&4Af-Y0EE
6728 fi/H 1216548 785 3,415
EXiE 1 ELERMNE 2E1848 1570 | 750 1,880 4,200
(X) 738 41/H 3E| &R 2.356 4,986
B 8348 {1/ H &8R4 956 3,586
EXiE 2 ELHERINE 2EIEE 1912| 750 1,880 4,542
(%) 73841/H 3E| &R 2.868 5.498
9028i{i/H 15518 1,028 3.658
ZMiE 1 EHERIMNE 2EI5E 2055| 750 1,880 4,685
(%) 73E4L/H 3E| &R 3083 5.713
97981/ H 15518 1,109 3,739
ENiE 2 EA4E R NE 2E1&18 2218 750 1,880 4,848
(%) 738 1/H RETE=E ] 3.326 5.956
10448541/ H 15518 1,177 3.807
Zhi€ 3 EHERNE 2EI5E 2355| 750 1,880 4,985
(X) 738 41/H 3E| &R 3532 6,162
11028 {1/8 121548 1,238 3.868
ZNiE 4 ELERIME 2ZI618 2477| 750 1,880 5,107
(%) 738 1/H RETE=E ] 3,715 6,345
11618 {i/8 121648 1,301 3.931
ZNiE& 5 EAHERINE PETEEE 2,601 750 1,880 5,231
(%) 738 41/H 3E| &R 3.902 6,532
*1 B =10.54M (BEWR 51:520M B:680M 7&:680M)
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REEHARZANE 90BifI/H(14BET) h5— 6,600/
REEFETEMNE 2758 41/H10BET) By HH5—or =) 7,700
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